164.

165.

166.

167.

Who introduced ‘doctrine of lapse’ ?
(A) Lord Wellesley

(B) Lord Curzon

(C) Lord Dalhousie

(D) Lord Lytton

Which one of the following are
correctly matched ?

Persons Events
1. Sultan Mahmud Sack of Somnath
2. Mohammad Conquest of Sind
Ghori

3. Alauddin Khilji
4. Mohammad Bin

Revolt in Bengal
Chengiz Khan’s

Tughlaq invasion
(A) land3 (B) 2only
(C) 1only (D) 2and4

Tides are caused by the gravitational
pull of the

(A) Earth on the Moon

(B) Earth on the Sun

(C) Sun and Moon on the Earth
(D) Moon on the Earth

Dry farming in India is extensively
practised in

(A) Kanara Plains

(B) Deccan Plateau

(C) Coromandal Plains

(D) Ganga Plains

168. Maich the following :
Towns Rivers
a.  Jabalpur l. Rawi
b.  Paris 2. Narmada
¢.  London 3. Siene
d. Lahore 4. Thames
a b c d
(A) 2 3 4 1
B) 3 2 1 4
O 1 4 3 2
(D) 4 1 2 3
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169.

170.

171.

172,

173.

174.

175.

The Kulu Valley is situated between
(A) Ladakh and Pirpanjal

(B) Ranjoti and Nag Tibba

(C) Lesser Himalayas and Siwalik
(D) Dhauladar and Pirpanjal

Terrace farming is done

(A) on the slope of hills
(B) indry regions

(C) onroof tops

(D) on mountain tops

The colour change in the Chameleon is
due to the presence of

(A) Haemoglobin

(B) Chromatophore

(C) Chlorophyll

(D) Pneumatophore

The deficiency of iodine leads to

(A) Hyperthyroidism

(B) Goitre

(C) Midgut

(D) Diabetes

Two richest known sources of edible

protein are

(A) Meat and eggs

(B) Some algae and other micro-
organisms

(C) Soyabean and ground nut

(D) Milk and leafy vegetables

The saliva helps in the digestion of
(A) Proteins (B) Starch
(C) Fibres (D) Fats

Which of the following correctly
explains the phenomenon of “Test
Tube Baby” ?

(A) When every process of embryo
formation is in the test tube.

(B) When the embryo develops in a
test tube.

(C) When the fertilisation is external
and development is internal.

(D) When the fertilisation is internal

and development is external.
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